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1. (a) Depression is Related to mood.
Similarly

Insomnia is Related to sleep.
2. (d)
3. (c)

Polygons

angles

Diagonal

Decagons

Cones

Cubes

Both Conclusions I and IIIrd follows
4. (a) 5,2,1,6,4,3 is correct arrangement According to English dictionary.
5. (a)
6. (d) 1) 27 3 – 18 × 3 + 9 = 24

 27 + 3 – 18 × 3  9 = 24
 27 + 3 – 6 = 24
 24 = 24
 L.H.S = R.H.S
2) 128 × 12 + 16 – 7 = 19

128 × 12  16 – 7 = 19

128 × 
3

4
– 7 = 19

89  19
Only II is correct answers.

7. (b)  P  T  U  R

 11 20 6 18

opp opp opp oppsame same same same

C  A

24 1

E  S

2219
Similarly

 U  C  A  T

 6  3 26 20

opp opp opp oppsame same same same

E  D

22 4

O  R

12 18
option (b) is correct

8. (b) R

M

R

P

A

O

I

I

M

D

Q

H

E

E

E

S

N

L

V

Q

Similarly

+4
+4

+4
+4 +4

+4 +4
+4 +4

+4

9. (a)

T D S, S I J, R N A, Q S R  P X I
+5 +5 +5

+17 +17 +17 +17

+5

–1 –1 –1 –1

10. (b) Logic: (3rd term- 1st term) = square of term
 (9,121,20)
 (20 – 9)2

 (11)2
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 121
Similarly
 (6,256,22)
 (22 – 6)2

 (16)2

 256
Option 'b' is correct answers

11. (b) R

M

L Q S
+ + –

+

+



Father 

Father

Bro

Daughter in law

Option 'b' is correct answers.

12. (d) 20  22  26  32  40  50
+2 +6 +8 +10+4

13. (d)
3
4

6
2

5
1

option 'd' is correct answers
14. (d) 27A 11 A 8 = 8

27 – 11 – 8 = 8
8 = 8 (L.H.S = R.H.S)
48A37A2 = 9
48 – 37 – 2 = 9
9 = 9 (L.H.S = R.H.S)

Similarly
 56 – 5 – 3
 48

option 'd' is correct answers
15. (d) 4 + 9 + 12 = 25
16. (a)

B

T

O

F

W

N

L

X

E   R

Q   C
Similarly

+1 +1 +1+2
+2

+2

B

P

O

B

W

O

M

X

A   N

Q   C

+1 +1 +1+2
+2 +2

17. (a) X   B   A 

N   Y   L 

opp opp opp

option (a) is correct answers
18. (a) 1, 3, 5, 2, 4 is correct answers.
19. (c) FAMILY * LONG = 24

 
6           × 4   = 24
24 = 24

Similarly
OVER * HOSPITAL = 24
 
4           × 8       = 32
24 = 24
option (c) is correct answers.
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20. (c)

F G E H

U V T X

Z A Y  B

–2

–2

–2

+1

+1

+1

P Q O R

–2

+1 +3

+3

+4

+3









Now, UVTX is odd one.
21. (d) b_e_dk_ _ cem_kkbc_m_kk

option (4) is satasified

bcemdkkbcemdkkbcemdkk
22. (d)
23. (b) 2, 5, 1, 4, 3 is correct answers
24. (c)

Father

Anuj

Kartik Vinita – Son – Brother

Son (Sumit)



 

 Vinita is the father's sister of Sumit.
25. (d) Hen is related to cock

Similarly
Duck is related to Drake

B-GENERAL AWARENESS
26. (a)The Magadha Empire was founded by Bimbisara. Bimbisara (544 BC - 492 BC) was the founder of the

Haryanka dynasty. He was a contemporary of Gautam Buddha./ex/ lkezkT; dh LFkkiuk fcafclkj us dh FkhA
fcafclkj (544 bZlk iwoZ & 492 bZlk iwoZ) g;Zad jktoa'k ds laLFkkid FksA og xkSre cq¼ ds ledkyhu FksA

27. (c) Sardar Vallabhbhai Patel was known as the 'Iron Man of India'. He was a prominent leader in the Indian
Independence Movement and played a key role in integrating the princely states into the Indian Union./ljnkj
cYyHkHkkbZ iVsy dks ̂ Hkkjr dk ykSg iq:"k* dgk tkrk FkkA og Hkkjrh; Lora=krk vkanksyu esa ,d izeq[k usrk Fks vkSj mUgksaus fj;klrksa dks Hkkjrh;
la?k esa ,dhÑr djus esa egRoiw.kZ Hkwfedk fuHkkbZ FkhA

28. (d) The Malwa Plateau is located between the Aravalli and Vindhya ranges in India.

This plateau is of volcanic origin and spreads over parts of Madhya Pradesh and Rajasthan.

This region is known for its black soil which is suitable for cotton cultivation./ekyok dk iBkj Hkkjr esa vjkoyh vkSj
foaè; ioZrekyk ds chp fLFkr gSA
;g iBkj Tokykeq[kh; mRifÙk okyk gS vkSj eè; izns'k rFkk jktLFkku ds dqN fgLlksa esa iSQyk gqvk gSA
;g {ks=k viuh dkyh feV~Vh ds fy, tkuk tkrk gS tks dikl dh [ksrh ds fy, mi;qDr gSA

29. (c) The interior of the Earth is divided into three parts, namely the crust, mantle and core. The core is
the innermost layer of the Earth. The radius of the innermost layer (core) is about 3500 km./i`Foh ds
vkarfjd Hkkx dks rhu Hkkxksa esa foHkkftr fd;k x;k gS] vFkkZr~ ØLV] esaVy vkSj dksjA dksj ] i`Foh dh lcls Hkhrjh ijr gSA varjre ijr
(dksj) dh f=kT;k yxHkx 3500 fdeh- gSA

30. (a) It is an indirect tax. It is implemented on nationwide level from 1st July, 2017.

GST came into existence on the recommendation of Kelkar Committee./;g ,d vizR;{k dj gSA ;g 1 tqykbZ]
2017 ls jk"VªO;kih Lrj ij ykxw gSaA
th,lVh dsydj lfefr dh fliQkfj'k ij vfLrRo esa vk;kA

31. (d)

32. (a)Biogas is a mixture of gases such as methane (CH
4
), carbon dioxide, hydrogen and hydrogen sulphide which

is produced from the decay of biomass in the presence of water but in the absence of oxygen. The main
component of biogas is methane as it contains up to 75% of methane gas./ck;ksxSl ehFksu (CH

4
)] dkcZu MkbvkWDlkbM]

gkbMªkstu ,oa gkbMªkstu lYiQkbM tSlh xSlksa dk feJ.k gS tks ty dh mifLFkfr esa ysfdu vkWDlhtu dh vuqifLFkfr esa ck;ksekl ds vkoklh;
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{kj.k ls mRiUu gksrk gSA ck;ksxSl dk izeq[k ?kVd ehFksu gS D;ksafd blesa 75» rd ehFksu xSl gksrh gSA
33. (a)The top 6 most populated countries in Asia are-/,f'k;k esa 'kh"kZ 6 lcls vf/d vkcknh okys ns'k gS&
• China/phu & 1-37 billion/vjc
• India/Hkkjr & 1-299 billion/vjc
• Indonesia/baMksusf'k;k & 255-46 million/fefy;u
• Pakistan/ikfdLrku&191-78million/fefy;u
• Bangladesh/ckaXykns'k&158-76 million/fefy;u
• Japan/tkiku&126-89 million/fefy;u
34. (b)

35. (d) The following are the Part of the Parliament: Rajya Sabha, Lok Sabha and the President./laln ds vax
fuEufyf[kr gSa% jkT;lHkk] yksdlHkk ,oa jk"VªifrA

36. (d) Vikram Sarabhai Space Center is located in Thiruvanantha-puram (Kerala). It is the main center of ISRO,
which is responsible for the design and development of launch vehicle technology./foØe lkjkHkkbZ varfj{k dsanz
fr:ouariqje (dsjy) esa fLFkr gSA ;g bljks dk izeq[k dsUnz gS] tks iz{ksi.k ;ku izkS|ksfxdh ds fMtkbu o fodkl gsrq ftEesnkj gSA

37. (a)Ganga, Indus and Brahmaputra, these three rivers also flow outside India like Ganga flows in India and Bangladesh,
Indus flows in China, India and Pakistan, Brahmaputra flows in China, India and Bangladesh but Godavari river
flows only in India./xaxk] fla/q] czg~eiq=k ;s rhuksa ufn;ka Hkkjr ls ckgj Hkh cgrh gSa tSls xaxk Hkkjr vkSj ckaXykns'k] fla/q phu] Hkkjr vkSj
ikfdLrku] czg~eiq=k phu] Hkkjr vkSj ckaXykns'k esa Hkh cgrh gS ysfdu xksnkojh unh dsoy Hkkjr esa cgrh gSA

38. (b) Clause (3) of Article 243D of the Constitution ensures participation of women in Panchayati Raj institutions.
Under this, provision for one-third reservation has been made./lafo/ku ds vuqPNsn 243D dk [k.M (3) iapk;rh jkt
laLFkkvksa esa efgykvksa dh Hkkxhnkjh lqfuf'pr djrk gSA blds rgr ,d frgkbZ vkj{k.k dh O;oLFkk dh xbZ gSA

39. (d)

40. (b)

41. (b)

42. (c) Sattriya is the classical dance of Assam, which is the basis of the religious and cultural fabric of Assam.
It is one of the eight major classical Indian dance traditions./lf=k;k vle dk 'kkL=kh; u`R; gS] tks vle ds /kfeZd
o lkaLÑfrd rkus&ckus dk vk/kj gSA ;g vkB izeq[k 'kkL=kh; Hkkjrh; u`R; ijaijkvksa esa ls ,d gSA

43. (a)

44. (d) The Wildlife Institute of India is located in Dehradun, Uttarakhand. It is located in Chandrabani, which is

near the southern forests of Dehradun./Hkkjrh; oU;tho laLFkku nsgjknwu mÙkjk[k.M esa fLFkr gSA ;g panzcuh esa fLFkr gS] tks
nsgjknwu ds nf{k.kh taxyksa ds lehi gSA

45. (c)

46. (c) Gastric mucus is a gel-like mucous barrier. It is secreted by epithelial cells and glandular cells in the

stomach wall.

It serves as part of a barrier that protects the stomach wall from acid and digestive enzymes within the stomach

lumen./xSfLVªd cyxe (Mucus) ,d tsy & 'ys"e vojks/ gSA ;g isV dh nhokj esa midyk dksf'kdkvksa vkSj xzafFk;ksa dh dksf'kdkvksa
}kjk lzkfor gksrk gSA
;g ,d ck/k ds fgLls ds :i esa dk;Z djrk gS tks isV dh nhokj dks isV ds yqesu ds Hkhrj ,flM vkSj ikpu ,atkbeksa ls cpkrk gSA

47. (b)

48. (b)

49. (c)

50. (a)

C - QUANTITATIVE APTITUDE
51. (c) Let,

x = (a – b) ( a + b – 2c)
y = (b – c) ( b + c – 2a)
z = (c – a) (a + c – 2b)
and Put, a = 0
So, x + y + z = (–b) (b – 2c)+ (b – c) ( b + c) + c( c– 2b) = 0

52. (d) Let L = 17x
and B = 18x
So, Area = 17x × 18x = 1224 m2
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Þ x2 = 4 Þ x = 2
So, L = 17 × 2 = 34
B = 18 × 2 = 36
Since, Fencing is done on Bounadries so, Perimeter
= 2 ( L + B)

Þ  2 ( 34 + 36)
Þ 140

Cost of fincing = 140 × 7
= Rs. 980

53. (b) Let, Total work = 72 & Efficiency of 3rd Son = x
So, Efficiency of 1st son = 3
Efficiency of 2nd Son = 2
Efficiency of Raju  = 22

ATQ.
Efficiency of man = 2 × Efficiency of his three sons

22 = 2( 3 + 2 + x)

Þ x = 6

So, Time taken by 3rd Son to complete the work

72
12 days 

6
 

54. (a)

x C 3, 02

A –2 7, 
5

B (–2, 0)

x
 =

 –
 2

x axis

y
axis

2x + 5y = 3

x y
1

3 3

2 5

 

Coordinate of. C is 
3
,0
2

 
    and B (– 2, 0).

Coordinate of A is 
7

2,
5

 
  

So, 
7

AB
5

  and 
3 7

BC 2
2 2

  

Required Area

1 1 7 7 49
AB BC

2 2 5 2 20
      

55. (a)Volume of sphere = 38808 cm3

3 34
r 38808 cm

3
 

So, r = 21 cm
Surface Area = 4pr2

222
  4 (21)

7
    = 5544 cm2
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56. (c)

5 1 1 3 1 1 1 1
2 1 1

44 4 2 2 6 4 2 3
3

 
    

         
      

 

13 5 1 5 1 1 3

4 4 2 2 12 2 13

     
               

13 5 1 29 1 13

4 4 2 12 2 3

    
             

13 1 13

4 24 6

 
    

13 6
24

4 13
  

= 36
57. (b) Time Period for both saikat and Raju is 1 year and for Vanisha its 6 months,

So, Profit Ratio
6×12 : 7× 12 : 7 × 6

Þ 12 : 14 : 7
Hence, 33 unit ® 99, 000
1 unit ® 3000
Profit of Saikat = 12 unit
= 12× 3000
= 36000

58. (a)Let, 1st part = a
So, 2nd part = 1550 – a

A.T.Q.

    
 

1550 a 6 1a 8 1
106

100 100
a = Rs. 650

So, Rs 650 is lent out at 8%

59. (b)





tan A cotB
?

tanB cot A






sin A cosB

cos A sinB
sinB cos A

cosB sin A

sin AsinB cos A cosB

cos AsinB
sin AsinB cos A cosB

cosBsin A







cosBsin A

cos AsinB
= cotB. tan A



7SSC CGL 2024 | SET - 17KD PUBLICATION Contact us:- 9555108888, 9555208888

60. (a)

60°

30m

45°
C

D

x

A

B

E

30m

Tower
Let AC = x
In DABC,

AC
tan45

BC


x
1

BC


BC = x ... (1)
Similarly, In DAED,

AD
tan60

ED
  .... (i)

 
x 30

3 ED BC
BC


 

x 30
BC

3


 .... (ii)

From (1) & (ii)
x = 40.98 cm
Hence, height of Building = x + 30°
= 40.98+ 30
70.98 m

61. (c) Average money spent in first 8 months = Rs. 2310
Average money spent in next 4 months = Rs. 1800

So,

8 2310 4 1800 1680

12

   


24000

12
 = 2000

Average Expenditure

8 2310 4 1800

12

  


= 2140
Required ratio

2000
100 : 107

2140
 

62. (d) 4 : 3

10 : 13

40 : 39
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So, 
1

1 0 0 2 . 5 %
4 0

 

= 2
1

2
% Decrease

63. (b) % of families having atleast cow or buffalo = (60+30–15) = 75%
No. of families do not have a cow
or a buffalo = 100– 75% = 25%

ATQ
100 % = 96
So, 25% = 24

64. (b) By alligation,

7.2 5.7

0.90.6

6.3

Required ratio = 0.6 : 0.9
Þ 2 : 3

65. (d) If, 
1

a 4
a

 

Thus, 
2 2

2

1
a 4 2 14

a
   

2

2

1
14 a

a
  ... (1)

Now,  33

3

1
a 4 3 4 52

a
    

3

3

1
a 52

a
  ...(ii)

and (i) and (ii)

3 2

2 3

1 1
a 14 a 52

a a
    

2

3

1
66 a 66 7 59

a

 
       

66. (c) We know that

M P 100 P%

C P 100 D%

 


 

M P 100 20

900 100 10

 



So, M.P. = Rs. 1200

67. (b) Let length of train A = L m/
and speed of train B = x m/s

ATQ
300 + L = (17.5 + x) ×15

Þ 15x – L = 37.5 ... (i)
Again, 300 + L = (17.5 x)× 80
80x + L = 1100 .... (ii)
Add (i) and (ii)
95x = 1137.5
x = 11.97 m/s
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68. (c) A  8 
B  10

5
4

40

Since, B rest every third day. So, and B works for two days together and on 3rd only A will Work in 1st

Two days
= (5 + 4 ) × 2 = 18
Work on 3rd days = 5 × 1 = 5
So, Total 23 unit work in 3 days.
So, Remaining work =17

Time. to do Remaining work
17

9


Hence,  Total time 
17

3
9

 

8
4 Days

9


69. (c) Let, the Distance be x km
The time is taken to walk x km be W hrs.
And the time is taken to ride x km
be R hrs,

Þ W + R = 
23

4
hrs

If he walks both ways takes 2 hours more

Þ 2W = 
23

4
 + 2 = 

31

4

Þ W = 
31

8
,

Now, R = 
23 31 15

4 8 8
   hrs

For walking both ways.

15

8
× 2 = 

15

4
hrs = 3 hour 45 minutes

70. (d) [(222)2 ÷ 48 × 16]÷24

222 222 1
16

48 24


  

1369

2


= 684.5
71. (a)For 1st Article For 2nd article

Profit = 20% Loss = 10%
So, C.P : S.P = 5 : 6
So, C.P.S.P = 10 : 9
In Question S.P of both article are same so, ratio of 1st article & ratio of c.p of s.p for 2nd article
C.P : S.P = 15 : 18
C.P : S.P = 20 : 18
So, overal CP and S.P
C.P = 35 & S.P = 36

Overall profit = 
1

100
35



6
2 %

7

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72. (c) We know that,a
a3 + b3 + c3 – 3abc

=        2 2 21
a b c a b b c c a

2
        

3 3 3(332) +(334) +(334) -3×332×334×334

2 2 2

1
(332+334+334)

2=

(332-334) +(334-334) +(334-332)

= 4000

=20 10
73. (b) Area of circle = pr2

22
14 14

7
  

= 616 m2

Area of Remaining part = (1000-616)m2

= 384 m2

So, Total cost = 616×23+384 ×15
=14168 + 5760
= Rs. 19928

74. (d) Tap tabes. 4 hours to fill the tank.
So, Half tank will be filled in 2 hours.
Now, Two more similar taps are opened to fill the remaining Half tank.

So, Time = 
1

hrs 40min
2



Hence, Total time = 2 hour 40 min
75. (a)L.C.M of (6, 9, 15 and 18) is 90

So, Required number = 90 K + 4
By, Hit and Trial. If this number nuts to be multiple of 7 then, k = 4

So, Number = 90 × 4 + 4 = 364
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D-ENGLISH COMPREHENSION

76. (b) The correct spelling is Abysmal (vR;ar cqjk), which means very bad or awful, often used to describe

something of extremely poor quality or condition.

The other words are correctly spelled:

Allocation (foHkktu) means the action or process of distributing something.

Allegation (vkjksi) refers to a claim or assertion made without proof.

Aversion (uiQjr) means a strong dislike or opposition.

77. (a) The correct spelling is preconception (iwoZ/kj.kk) which refers to a judgment or opinion that is formed

before having all the facts.

78. (b) "Ubiquitous" means existing or being everywhere at the same time; it refers to something that is very

common or widespread (gj txg ekStwn loZO;kih). Similarly, omnipresent means present everywhere at the

same time (gj txg mifLFkr)."

candid: means truthful and straightforward (bZekunkj)

obsolete: means no longer produced or used (iqjkuk)

irreplicable: means impossible to replicate or duplicate (udy ugha fd;k tk ldrk)

79. (c) Please do not disturb me. I am preparing for exams.

In this sentence, the '-ing' form of the verb "preparing" expresses the continuity of the action. The structure
"am preparing" shows an ongoing action, indicating that the preparation is happening right now.

Other options:

1. Reading novels is my favourite pastime.

Here, "Reading" is used as a noun, not as a continuous action, so it doesn't express continuity in
the same sense.

2. I am fond of reading science fiction.

In this case, "reading" is used as a noun (gerund) to describe an activity the person enjoys, not as
an ongoing action.

4. The optician advised me to use reading glasses.

"Reading" is again used as a noun (as part of "reading glasses"), not as a continuous verb form.

80. (c) Clique (xqV) means a small, exclusive group of people who share common interests, often excluding

others.

Oblique (foÑr) means slanted or indirect

Pique (fp<+) means a feeling of irritation or resentment.

81. (c) "Transform means to change or alter something significantly (ifjorZu djuk), while stagnate means to remain

unchanged or not develop (fLFkj jguk)."

Commute:  (cnyuk ;k ;k=kk djuk) - refers to traveling or switching between things

Alter: (cnyuk)- similar to transform

Convert: (cnyuk) - also means to change

82. (a) Active Voice Structure: Subject + will + verb (V1) + object

The company + will + launch + the new product.

Passive Voice Structure: Object + will be + past participle (V3) + by + subject

The new product + will be + launched + by the company.



1 2SSC CGL 2024 | SET - 17KD PUBLICATION Contact us:- 9555108888, 9555208888

83. (d) "Disseminate means to spread or distribute widely (iQSykuk), while conceal means to hide or keep

something secret (fNikuk)."

Felt: experienced an emotion (eglwl fd;k).

Sparkle: shine brightly with flashes of light (ped).

Gave: past tense of "give," meaning to offer or provide (fn;k).

84. (d) "Acquiesce (lger gksuk) means to accept or agree to something reluctantly, without protest. Similarly, concur

(lger gksuk) refers to agreeing or being in harmony with someone or something."

Desist (jksduk) means to stop doing something

Cease (can djuk) means to stop or bring something to an end

Thwart (ukdke djuk) means to prevent or hinder something.

85. (d) "Cast a spell on me" is the correct expression, meaning to enchant or put someone under a magical

influence (tknw djuk).

86. (b) No improvement

Here, "would" is used to express a future possibility or intention in a conditional context. There is no
need for any changes.

87. (c) Rock the boat means to disrupt or disturb a situation that is stable or calm. It is often used in the context
of causing trouble or problems in a scenario that was going smoothly.

88. (b) The correct order is DCAB.

D introduces the general idea that America has several long river systems.

C adds specific information about the Rio Grande, stating that although it's not the longest river, it's the
most important.

A then highlights the importance of the Rio Grande, specifically its location.

B contrasts the Rio Grande with other rivers, pointing out that it is not used for shipping

89. (a) Rejuvenated (iqu% ;qok fn[kuk) means restored to a more youthful or fresher state.

90. (d) "Asleep" is an adjective and does not function as a verb here. The correct past tense verb form is "slept,"
which indicates that the action of sleeping occurred in the past.

"slept in" means "to sleep longer than usual or intended" (T;knk nsj rd lksuk)

91. (c) Reprehensible (fuanuh;) means something that is deserving of strong criticism or disapproval. Similarly,

Ignominious (viekutud) refers to something that is deserving of shame or humiliation.

Unfaltering (u Mxexkus okyk)means something that is steady and unwavering.

Amusing (euksjatd) means something that is entertaining or funny.

Ignorable (utjvankt djus ;ksX;) means something that can be disregarded or not important enough to be

considered.

92. (a) "Sits on the fence" means to be undecided or not to take sides in a situation, often because of reluctance

to make a decision.(fdlh fu.kZ; ij u igq¡; ikuk ;k i{k uk pquukA)

93. (c) The verb "turns" should be in the past tense to match "shook." The correct form should be "she

shook her head and turned away" (mlus viuk flj fgyk;k vkSj eqM+ xbZ).

94. (a) Active Voice Structure: Auxiliary verb + Subject + Verb (V-ing) + Object

Was + the gardener + grafting + the plants ?

Passive Voice Structure: Auxiliary verb + Object + verb (be-ing) + v3 + by + Subject
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Were + the plants + being grafted + by the gardener ?

95. (b) The correct form should be "have begun" ('kq: dj fn;k gS) since "begun" is the past participle of the verb

"begin." The structure "have + past participle" is used for present perfect tense.

96. (d) "triggered" (mRiUu) refers to something that causes a natural process to occur, like earthquakes or floods. It suits

the context of natural disasters that are initiated or set off by natural events.

97. (d) "Devise" (fodflr djuk) means to plan or create something with careful thought. The sentence talks about the

need to come up with mitigation strategies.

Intel (lwpuk): Refers to information

Halt (jksduk): Means to stop something

Fabricate (cukuk): Means to make or construct physically

98. (d) "as" (D;ksafd) is used to show the reason or cause. The sentence explains why the study is important.

Or (;k): Offers an alternative, which is incorrect in this cause-and-effect situation.

So (blfy,): Implies a result

99. (b) "Impacts" (izHkko) refers to the effects or consequences of something, like the shaking caused by an

earthquake.

Noise ('kksj): Refers to sound

Clashes (>M+i): Means conflicts

100.(b) "Safer" (lqjf{kr) is used to describe something being more protected or secure.
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